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s 6,563,000
= 2,800,252
s 40,284,484
NEEN =g 907,346 753,080 154,266
N EHMEE 10,200 14,800 A 4,600
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ER D\ Rzl 8,000 13,000 A5,000
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O=FEu&E: 422 IR S22 8,000
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NHZ2SEX ¥ B+ 897,146 738,280 158,866
201 £B-2%| 12,130 4,680 7,450
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01 A& HI 881,416 730,000 151,416
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s 13,742,860
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OsHEEZZE FXZelAE (231 300,000
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Os=9% F&el sHEEZ2302sd
M RIS A 100,000
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OsTdH WHel~dEH(HZ10154) ST X ZA 300,000
0l2dH EXel(sE31758) AFE FHH| 50,000 0 50,000
401 Al HI L 2 0HHI 50,000 0 50,000
01 Al& H| 50,000 0 50,000
O0l¥H AXel =s=317a4 AFH HHIAIE 50,000
E2 2AHHAH(H0IS A B LR 600,000 150,000 450,000
1T AIEHIZ 2L 600,000 150,000 450,000
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OFY S2H~HA(HZI01SH ) E T2 A 600,000
=2 Msel(2lE2025 M )& E 500,000 500,000 0
401 AlEHI 2 2 0HY| 500,000 500,000 0
01 Al&H| 500,000 500,000 0]
O deel(elE202sd) SHEE ZAH 500,000
C2RAES 285,865 405, 165 A 119,300
TS 2 A 285,865 405, 165 A 119,300
101 Q121 H| 22,510 23,760 AN 1,250
3 2IHAZ2Z2XE 5= 9,610 10,860 A 1,250
OE224% 2H=27 2 Haxy 2
88,0008 » 60 x 7H 3,360
OEZdEE & HUEX BAEO =&
20,0008 = 120 2,400
OEzE+3 Ygdsts 2 550,000& = 7Y 3,850
04 JI2ZtHIZ22NEES 12,900 12,900 0
O NESEXRA 12
50,0003 * 15004 * 12& 9,000
OXLdlEEE MALE AX o8 3,900
201 LBt | 146,255 145,305 950
01 AP 22| H| 75,800 75,000 800
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-2 xolS2EF &4 2= 5,000
OEzsXae e 2 3,000
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Os201d s &« )| =22 50,000
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FOU=RAANY SAE4H] 100,000
Obt23a & L F2 HES ALY 100,000
Ostz=g 25l sZHEE S A 20,000
Osle=g UXel =2 4l 3 At 10,000
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Osl=g #+=0tel Ot22 7 H HHISAH 80,000
Osl=g 24 =2 HHlZ2A 50,000
Ost=g Mgl gz S A 25,000
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